Kelvin Helmholtz instability Hölmböe instability Rayleigh-Taylor instability

Methods: normal mode instability Energy of particles (heuristic method)



2









stability of particles in a stratified fluid Stratified shear flows and instability



Consider the exchange of a fluid parcel with one at another level in a stably stratified fluid.*



How much work W is being done, and how much energy is made free? (Consider the leading order density effects).

*Suppose $u(z+\eta)=u+\delta u$, and after exchange $u=u_{mean}=(u+(u+\delta u))/2$ Inertia effects are negligible on density, i.e. $\rho=\rho_0$ (Boussinesq approximation)

$$KE_1 = \frac{\rho_0}{2}[u^2 + (u + \delta u)^2] = \frac{\rho_0}{2}[2u^2 + 2u\delta u + (\delta u)^2]$$

After exchange of the two particles :

$$\begin{aligned} \mathsf{K}\mathsf{E}_2 &= \frac{\rho_0}{2} [2(\frac{u + (u + \delta u)}{2})^2] = \frac{\rho_0}{2} [2u^2 + 2u\delta u + 1/2(\delta u)^2] \\ \Delta\mathsf{K}\mathsf{E} &= \mathsf{K}\mathsf{E}_2 - \mathsf{K}\mathsf{E}_1 = -\frac{\rho_0}{4} (\delta u)^2 \end{aligned}$$

The change in buoyancy is

$$\Delta B = g\rho(z) - g\rho(z+\eta) = g\rho(z) - g[\rho(z) + \eta \frac{d\rho}{dz} + \dots] \approx -g\frac{d\rho}{dz}\eta$$

with $\rho(z) = \rho(z_0) + \frac{\rho_0}{dz}(z - z_0) + ... \approx \rho(z_0)$ and the work on a single particle at the level δz is thus

$$W = \int_0^{\delta z} -g rac{d
ho}{dz} \eta d\eta = -g rac{d
ho}{dz} rac{(\delta z)^2}{2}$$

The work for the exchange is then : $W = -g \frac{d\rho}{dz} (\delta z)^2$.

There is instability when $\Delta KE > W$, or

$$\frac{\rho_0}{4}(\delta u)^2 > -g\frac{d\rho}{dz}(\delta z)^2$$

with

$$Ri = \frac{-\frac{g}{\rho}\frac{d\rho}{dz}}{(\frac{du}{dz})^2} < \frac{1}{4}$$

This is the Richardson criterion for Kelvin Helmholtz instability.

・ロト・1日ト・1日ト・日・9への

10

















・ロ・・聞・・思・・思・ のべる



18

Perturbations

The basic flow satisfies

The Euler equations, continuity and hydrostatic balance are;

$$\frac{\partial \vec{u}}{\partial t} + u \cdot \nabla \vec{u} = -\frac{\nabla \rho}{\rho} - g \qquad \nabla \cdot \vec{u} = 0 \quad \frac{d\rho}{dz} = -\rho g$$

We suppose a perturbation of the form

p = P + p' $\rho = \rho_i + \rho'_i \quad (i=1,2)$ $u_1 = U_0 + u'_1$ $u_2 = u'_2$

・ロト ・母ト ・ヨト ・ヨー ・クタイト

The basic flow is given by

Substitue the perturbations (neglect second order terms), so that we obtain :

$$\nabla . (\bar{U}_0 + \bar{u}') = 0$$

$$\frac{\partial \bar{U}_0 + \bar{u}'}{\partial t} + (\bar{U}_0 + \bar{u}') \frac{\partial (\bar{U}_0 + \bar{u}')}{\partial x} = \frac{\nabla (P + p')}{\rho_0 + \rho'}$$

$$\Longrightarrow$$

For the upper layer we obtain :

Lower layer:

21

Note : The basic equations provide information about the phase of the pressure with respect to the vertical motion. Substitution of the perturbations in the latter equation shows (omitting primes)

$$-i(\omega - kU_0)w_1 = -\frac{k}{\rho}p_1$$
$$-i\omega w_2 = -\frac{k}{\rho}p_2$$

(Vertical velocity is out phase with pressure and velocity, and horizontal vorticity $\omega_y \approx -\frac{\partial w}{\partial x} = -ikw$)

(4日) (個) (目) (目) (日) (の)

We use perturbations of the form

$$(u',w',p',\zeta')=(\hat{u},\hat{w},\hat{p},\hat{\zeta})(z)e^{ikx-i\omega t}$$

The fonction $(\hat{u}, \hat{w}, \hat{p}, \hat{\zeta})(z)$ can be derived from eqs. (1,2 and 3). With $\frac{\partial(2)}{\partial x} + \frac{\partial(3)}{\partial z} = -\nabla^2 p'_i$ and continuity one obtains $\nabla^2 p'_i = 0$. Using the expression for the perturbations above yields

$$\frac{\partial^2 p_i'}{\partial z^2} - k^2 p_i' = 0,$$

with solutions $p'_i = A_i e^{kz} + B_i e^{-kz}$. Under the condition that perturbations disappear with distance from the interface $z \to \pm \infty$ $\hat{p'} \to 0$ we obtain

In layer 1 :
$$(u', w', p', \zeta')_1 \sim e^{-kz} e^{i(kx-\omega t)}$$

In layer 2 : $(u', w', p', \zeta')_2 \sim e^{kz} e^{i(kx-\omega t)}$

◆□▶ ◆昼▶ ◆臣▶ ◆臣▶ 臣 - のへで

22

Interface conditions

Lagrangian motion of a particle at the interface

I) <u>Kinematic interface condition</u> : particles remain at the interface. Consider a particle at the interface $\zeta(x, t)$, given by $z = \zeta(x, t)$. By continuity, the vertical motion of this particle should match the velocity above and below the interface :

upper layer
$$\frac{D\zeta}{Dt} = \frac{\partial\zeta}{\partial t} + U_0 \frac{\partial\zeta}{\partial x} = w_1$$

lower layer $\frac{D\zeta}{Dt} = \frac{\partial\zeta}{\partial t} = w_2$

II) <u>Dynamic condition</u> : continuity of forces across the interface. Here, normal to the interface, pressure and gravity

$$p_1 - p_2 = (\rho_1 - \rho_2)g\zeta$$
 for $z = 0$
force balance **normal** to the interface

We consider the motion in the vertical direction :

$$\begin{aligned} \frac{\partial \zeta}{\partial t} &+ U_0 \frac{\partial \zeta}{\partial x} = w_1 \\ \frac{\partial \zeta}{\partial t} &= w_2 \\ p_1 - p_2 &= (\rho_1 - \rho_2)g\zeta \\ \frac{\partial w_2'}{\partial t} &= -\frac{1}{\rho_2} \frac{\partial p_2'}{\partial z} \\ \frac{\partial w_1'}{\partial t} &+ U_0 \frac{\partial w_1'}{\partial x} = -\frac{1}{\rho_1} \frac{\partial p_1'}{\partial z} \end{aligned}$$

Substitute the perturbations and write in matrix form to determine the dispersion relation.

25

Solution	
Sometimes it is easier to write this in the form of a matrix $\begin{pmatrix} i(kU_0 - \omega) & -1 & 0 & 0 & 0\\ -i\omega & 0 & -1 & 0 & 0\\ g(\rho_2 - \rho_1) & 0 & 0 & 1 & -1\\ 0 & 0 & -i\omega & 0 & k/\rho_2\\ 0 & i(kU_0 - \omega) & 0 & k/\rho_1 & 0 \end{pmatrix} \begin{pmatrix} \zeta\\ W_1\\ W_2\\ P_1\\ P_2 \end{pmatrix} = \begin{pmatrix} 0\\ 0\\ 0\\ 0\\ 0 \end{pmatrix}$ If Det=0 then nontrivial solution exist. If there are many equations make use of a program like Python, Maple, Scylab, Matlab, or	
$(\rho_1 + \rho_2)\omega^2 - 2kU_0\rho_1\omega + k^2U_0^2\rho_1 - kg(\rho_2 - \rho_1) = 0.$	
<ロト(ラ)(ミト(き) ミークスC* 27	



Interpretation 1

$$\omega = \frac{kU_0\rho_1 \pm i\sqrt{k^2U_0^2\rho_1\rho_2 - kg(\rho_2 - \rho_1)(\rho_2 + \rho_1)}}{(\rho_1 + \rho_2)}$$
Remind that the form of the perturbation is $\sim e^{i(kx - \omega t)}$
• Water-Air interface : $U_0 = 0$ et $\rho_1 = 0$
From the dispersion relation we obtain $Im(\omega) = 0$, and $Re(\omega)$:
 $\omega = \pm \sqrt{kg}$
 $\omega_i = 0 \rightarrow e^{\omega_i t} = 1 \rightarrow \text{stable.}$

 $\omega_r \neq 0 \rightarrow$ surface waves with phase velocity : $c = \sqrt{g/k}$.

Inclastication - AAA

Interpretation 2

$$\omega = \frac{kU_0\rho_1 \pm i\sqrt{k^2U_0^2\rho_1\rho_2 - kg(\rho_2 - \rho_1)(\rho_2 + \rho_1)}}{(\rho_1 + \rho_2)}$$
• Stable fluid interface, but without shear
i.e. $U_0 = 0$ and $\rho_1 > 0$
The dispersion relation reduces to (only $\operatorname{Re}(\omega) \neq 0$):

$$\omega = \pm \sqrt{\frac{kg(\rho_2 - \rho_1)}{(\rho_1 + \rho_2)}}$$
 $\rho_1 < \rho_2 \rightarrow \omega_i = 0$ stable ($\rho_1 > \rho_2$ instable)
The phase velocity is for interfacial gravity waves :

$$c = \pm \sqrt{\frac{g}{k} \frac{(\rho_2 - \rho_1)}{(\rho_1 + \rho_2)}} = \pm \sqrt{g'/k}$$



Interpretation 3

$$\omega = \frac{kU_0\rho_1 \pm i\sqrt{k^2U_0^2\rho_1\rho_2 - kg(\rho_2 - \rho_1)(\rho_2 + \rho_1)}}{(\rho_1 + \rho_2)}$$

• Stable density interface with shear $\rho_1 \neq \rho_2$, $U_0 \neq 0$, $\rho_2 > \rho_1$

There is stability when :

$$U_0^2 \le rac{g}{|k|
ho_1
ho_2}(
ho_2^2 -
ho_1^2)$$

There is instability when $\pm \omega_i \neq 0$, i.e. for

$$4k^2U_0^2\frac{\rho_1\rho_2}{\bar{\rho}^2}-2kg\frac{\Delta\rho}{\bar{\rho}}\approx 2k(2kU_0^2-g\frac{\Delta\rho}{\bar{\rho}})>0$$

From this expression, derive instability for (a typical length scale L).

$$Ri = \frac{-g}{\rho_0} \frac{\frac{d\rho}{dz}}{\left(\frac{du}{dz}\right)^2} < \frac{1}{4}$$













The mixing layer shear layer thickness $\delta(x) = \frac{(U_1 + U_2)}{(dU/dy)_{max}}$ δ increases with x by diffusion ; vortex roll-up and vortex merging. δ becomes linear in x far downstream. δ becomes linear in x far downstream.

|R| << 1 weak shear; simple linear relation between spatial and temporal development of instability |R| > 1 complex relation between spatial and temporal

 $|R| \ge 1$ complex relation between spatial and temporal development of instability.



38

Control numbers are :

$$Re = rac{(U_1 - U_2)\delta(0)}{
u}$$
 and R = $\Delta U/2U$

 $\begin{array}{l} \mathsf{R}{=}0: \text{ no net shear (e.g. wake behind a flat plate)} \\ \delta \text{ increases proportionally with shear intensity R (growth rate)} \\ \mathsf{R}{\ll}1 \text{ slow streamwise development} \end{array}$

 $R \approx 1$ or $R \ge 1$, roll-up and merging occur closer to x=0.

Strouhal number describing the characteristic flow oscillation, the frequency of vortices of wave length

$$St_n = rac{f_n \delta(0)}{\overline{U}} pprox 0.03$$

 f_n is the natural vortex frequency in the wake







41

Consider the instability of the vorticity layer at the interface (2D)

Linearise, neglect terms of second order

$$\left(\frac{\partial}{\partial t} + U\frac{\partial}{\partial x}\right) \left(\frac{\partial w'}{\partial x} - \frac{\partial u'}{\partial z}\right) - \frac{\partial^2 U}{\partial z^2}w' = 0$$
$$\frac{\partial u'}{\partial x} + \frac{\partial w'}{\partial z} = 0$$

Consider a perturbation of the form $u', w' \longrightarrow (u'(z), w'(z)) e^{ikx + i\sigma t}$,

$$(u'(z), w'(z)) e^{ikx + ib}$$

$$i(\sigma + kU)\left(ikw' - \frac{\partial u'}{\partial z}\right) - \frac{d^2U}{dz^2}w' = 0$$
$$iku' + \frac{\partial w'}{\partial z} = 0$$

Eliminate u' to find *THE* ordinary differential equation in z to solve:

$$(\sigma + kU)\left(\frac{\partial^2 w'}{\partial z^2} - k^2 w'\right) - \frac{d^2 U}{dz^2} kw' = 0$$

Continuity of w' at z>h and z<-h gives then

$$Ae^{-kh} = Be^{-kh} + Ce^{kh}$$

$$De^{-kh} = Be^{kh} + Ce^{-kh}$$
and the relation $(\sigma + kU)\Delta \frac{\partial w'}{\partial z} - \Delta \frac{\partial U}{\partial z}kw' = 0$ gives with $u = \pm U/_2$
 $2(\sigma + k\mathbf{u})Ce^{kh} - \frac{\mathbf{u}}{h}(Be^{-kh} + Ce^{kh}) = 0$
 $2(\sigma - k\mathbf{u})Be^{kh} + \frac{\mathbf{u}}{h}(Be^{kh} + Ce^{-kh}) = 0$

eliminate B and C gives then ...

$$\sigma^{2} = \frac{\mathbf{u}^{2}}{4h^{2}} \left[(2kh - 1)^{2} - e^{-4kh} \right]$$

in the limit of $kh \rightarrow 0$ $\sigma^2 = -k^2 \mathbf{u}^2$ with u', $w' \sim e^{ikx + i\sigma t}$, we note that $i\sigma > 0 \longrightarrow$ growth ! Same as the KH interface from above.

For large values of *kh* shear layer thickness decreases the growth σ $\sigma^2 = + k^2 \mathbf{u}^2$ so that $\sigma = \pm k \mathbf{u}$; Since Im(σ)=0, stability

45









If
$$\delta/D << 1$$
 viscous effects are small at t=0, initial thickness is large

$$\frac{1}{\Delta} \frac{d\Delta}{dt} = \frac{2\delta}{D^2 + \delta^2} \frac{d\delta}{dt} \approx \frac{2\delta}{D^2} \frac{d\delta}{dt} \approx \frac{2\nu}{D^2} = \text{constant in time}$$
 $\delta \sim \sqrt{\nu t}$
If $\delta/D >> 1$ t=0, thin layer with strong viscous effects ($\Delta \approx \delta$)
 $\frac{1}{\Delta} \frac{d\Delta}{dt} = \frac{2\delta}{D^2 + \delta^2} \frac{d\delta}{dt} \approx \frac{1}{\delta} \frac{d\delta}{dt} = \frac{1}{t}$
Now compare with the growth rate of the instability (Re= Real part)
 $Re(-i\sigma) = \frac{0.2U}{\Delta}$ which is the maximum growth rate for the inviscid case

this growth rate is affected by viscosity due to increase in thickness Δ , in case $\delta/D^{<<1}$ $\Delta=D$ and the growth rate, 0.2 U/D, is not affected.

In case $\Delta{\approx}\delta$ the spreading of the viscous layer is faster than the growth of the instability.

$$Re(-i\sigma) = \frac{0.2U}{D} \approx \frac{0.2U}{\delta} = \frac{0.2U}{2\sqrt{\nu t}} \qquad \text{and spreading of layer is} \quad \frac{1}{\delta} \frac{d\delta}{dt} = \frac{1}{t}$$

Thickness of the diffusing shear layer.

The standard deviation of the vorticity distribution at t=0 is

$$\sigma^2 = \frac{1}{2u} \int_{-\infty}^{+\infty} y^2 \omega(y, t) dy$$

this is generally smaller than the real distribution (here 2D) so rescale:

$$\Delta^2 = \frac{a}{2u} \int_{-\infty}^{+\infty} y^2 \omega(y,t) dy$$
 With $a = \left(\frac{D}{\sigma}\right)^2$ so that at t=0 $\Delta^2 = D^2$

For a linear velocity profile a=3 (at t=0). The integral then yields

$$\Delta^2 = D^2 + \delta^2 \qquad \qquad \delta = \frac{3}{2}\sqrt{4\nu t}$$

The spreading of the vorticity distribution can be written then as

$1 \ d\Delta$	2δ	$d\delta$
$\overline{\Delta} \ \overline{dt} =$	$\overline{D^2 + \delta^2}$	\overline{dt}

two cases. 1) weak viscous spreading $\delta/D<<1$ an 2) thin layer with strong viscous effects, i.e. $\delta/D>>1$











boundary conditions

Reduce variables to obtain a partial differential equation in z (eliminate u with i and iii)

$$-(\omega + kU_0)\frac{\partial w}{\partial z} + kw\frac{\partial U_0}{\partial z} = -\frac{ik^2}{\rho}\delta\rho$$
(4)

eliminate δp to obtain a single equation in w

$$\frac{\partial}{\partial z} \left[-(\omega + kU_0) \frac{\partial w}{\partial z} + kw \frac{\partial U_0}{\partial z} \right] = k^2 (\omega + kU_0) w \tag{5}$$

The kinematic boundary condition imposes that w is continuous across the interface : $\int_{\Gamma}^{\epsilon} e^{-\frac{1}{2}} e^{-\frac{1}{2$

Applying this to equation (5) yields :

$$-(\omega + kU_0)\frac{\partial w}{\partial z} + kw\frac{\partial U_0}{\partial z} = 0$$
(6)

 $\partial 4/\partial z$ is equal to the pressure gradient; (6) implies $\delta p_1 - \delta p_2 = 0$ so that also the *dynamic boundary condition* is satisfied.

substitute in the Euler equations :

$$\begin{aligned} \frac{\partial u}{\partial t} + U_0 \frac{\partial u}{\partial x} + w \frac{\partial U_0}{\partial z} &= -\frac{1}{\rho} \frac{\partial \delta \rho}{\partial x} \\ \frac{\partial w}{\partial t} + U_0 \frac{\partial w}{\partial x} &= -\frac{1}{\rho} \frac{\partial P_0 + \delta \rho}{\partial z} - g \\ \frac{\partial u}{\partial x} + \frac{\partial w}{\partial z} &= 0 \end{aligned}$$

Substitute perturbations : $v(x, z, t) = \hat{v}(z)exp\{i(kx + \omega t)\}$

$$i(\omega + kU_0)u + w\frac{\partial U_0}{\partial z} = -\frac{ik}{\rho}\delta p$$
$$i(\omega + kU_0)w = -\frac{1}{\rho}\frac{\partial}{\partial z}\delta p$$
$$u = \frac{i}{k}\frac{\partial w}{\partial z}$$

58

Show that in regions where $\frac{\partial U_0}{\partial z} = 0$ we have $\frac{\partial^2 w}{\partial z^2} - k^2 w = 0$... In the three regions we have :

$$z > d$$
 $w = A_+e^{-kz}$
 $-d < z < d$ $w = A_0e^{-kz} + B_0e^{kz}$
 $z < -d$ $w = A_-e^{kz}$

with the constants A_{-} , A_{+} , A_{0} and B_{0} to determine with the continuity accros the interface, i.e.

Kinematic boundary condition : continuity of w at ±d
 Continuity of pressure gives :

$$-(\omega + kU_0)\frac{\partial w}{\partial z} + kw\frac{\partial U_0}{\partial z} = 0$$

(suppose $U_2 = U$ and $U_1 = -U$ and the relation found with 1))

Continuity of w at $\pm d$:

$$+d: A_{+}e^{-kd} = A_{0}e^{-kd} + B_{0}e^{+kd}$$
$$-d: A_{-}e^{-kd} = A_{0}e^{kd} + B_{0}e^{-kd}$$

gives with continuity of $-(\omega+kU_0)\frac{\partial w}{\partial z}+kw\frac{\partial U_0}{\partial z}=0$:

$$+d: 2(\omega + kU)B_0e^{kd} - \frac{U}{d}(A_0e^{-kd} + B_0e^{kd}) = 0$$
$$-d: 2(\omega - kU)A_0e^{kd} + \frac{U}{d}(A_0e^{kd} + B_0e^{-kd}) = 0$$

Elimination of $\frac{A_0}{B_0}$ yields the dispersion relation for ω (Rayleigh 1896 vol11, p 393 and Drazin p 146 :

$$\omega^2 = \frac{U^2}{4d^2} \left[(1 - 2kd)^2 - e^{-4kd} \right]$$

since $\sim \exp[i(kx + \omega t)]$ instability for $i\omega > 0$.

61

イロト イクト イミト イミト ニヨー のへで



Simplify the dispersion relation $\alpha = 2kd$ and $\Omega = \omega/(2kU)$ Since $U_1 = -U_2 = -U$, the phase velocity is $c = \omega/k$ (in case there is a mean velocity, it increases the phase velocity)

$$4\alpha^2\Omega^2 = (1-\alpha)^2 - e^{-2\alpha}$$

so that :

$$\Omega^2 = 1/4 rac{\left[(1-lpha)^2 - e^{-2lpha}
ight]}{lpha^2}$$

deduce Kelvin Helmholtz instability, i.e. $d \rightarrow 0$,

$$\omega = ikU$$
$$\omega^2 = \frac{U^2}{4d^2} \left[(1 - 2kd)^2 - e^{-4kd} \right]$$

62



Large wave lengths (small k) do not see the thickness of the interface and are unstable as KH Short wave lengths are stabilized (large k), they are within the shear layer.



The Richardson number represents the ratio between the kinetic energy of relative motion $\left(\frac{\partial U}{\partial z}\right)^2$ and the work that must be done to overcome the restoring buoyancy force.

(see exercise on particle displacement of lecture 1; note that in this exercise the Boussinesq approximation is used by assuming that $\Delta \rho U$ is small). The results for instability is :

$$Ri(=J) = \frac{-g}{\bar{\rho}} \frac{d\rho/dz}{(dU/dz)^2} = \frac{\text{buoyancy force}}{\text{inertia force}} < \frac{1}{4}$$

Exercise :

Consider a basic flow with velocity profile U(z) and density distribution $\rho(z)$ and neglect viscous effects. Derive the dispersion relation (Taylor-Goldstein equation).

$$e^{-2\alpha} = \left[1 - \frac{\alpha(\Omega+1)^2}{J + (\Omega+1) + \epsilon\alpha/2(\Omega+1)^2}\right] \left[1 - \frac{\alpha(\Omega-1)^2}{J - (\Omega-1) - \epsilon\alpha/2(\Omega-1)^2}\right]$$

with $\Omega = \omega/(kU)$ and J the Richardson number :

 $J=rac{\epsilon gk}{2U^2k}\sim rac{g\Delta
ho/2d}{
ho(dU/dz)^2}$

For stability $Re(\Omega^2) > 0$. Unstable when $Re(\Omega^2) < 0$ i.e. when

$$\frac{k}{1+e^{-k}} < J+1 < \frac{k}{1-e^{-k}}$$













Suppose step-profile, symmetric interface
$$(\epsilon = 0)$$
 in

$$\left(\frac{\partial^2}{\partial z^2} - k^2\right)\phi + \left\{\frac{JN^2}{(U-c)^2} - \frac{U''}{(U-c)}\right\}\phi = 0.$$
Then the dispersion relation reads

$$D(k, \omega, J, a) = (\omega - ak)^4 + n_2k^2(\omega - ak) + n_0k^4 = 0$$
where $a = U_{mean}/\Delta U$
 $n_2 = \frac{-J}{sk} + \frac{e^{-4sk} - (2sk - 1)^2}{4k^2}$ and $n_0 = \frac{J}{sk} + \frac{(e^{-2sk} + 2sk - 1)^2}{4k^2}$
with $s = sgn(k_r)$. The roots are then (Ortiz et al POF 2002) :
 $\omega(k) = ak \pm \left\{\frac{-n^2k^2 \pm \Delta^{1/2}}{2}\right\}^{1/2}$ and $\Delta = (n_2k^2)^2 - 4n_0k^4$



$$\omega(k) = ak \pm \left\{ rac{-n^2k^2 \pm \Delta^{1/2}}{2}
ight\}^{1/2}$$
 and $\Delta = (n_2k^2)^2 - 4n_0k^4$

advection with speed $a=U_m/\Delta Uk$ results in Doppler shift . To move with the local mean flow we should take $\omega_r^*=\omega_r-ak$ where $\omega=\omega_r+i\omega_i$; ω_r representing the oscillatory part and ω_i the growth.

























Continuous velocity profiles.

Exercise :

Consider a basic flow with velocity profile U(z) and density distribution $\rho(z)$ and neglect viscous effects. Derive the dispersion relation (Taylor-Goldstein equation).

The Taylor-Goldstein equation Parallel flow U(z) [U + u', v', w'] and stratification N. Euler Equations, viscosity $\nu = 0$ Squires theorem ($\nu = 0$) : $3D \rightarrow 2D$, stronger growth for 2D than 3D (see later) Finearize, define a stream function $u' = \frac{\partial \psi}{\partial z}$ w' = $-\frac{\partial \psi}{\partial x}$ perturbation $[\rho, p, \psi] = [\hat{\rho}(z), \hat{\rho}(z), \hat{\phi}(z)]e^{[ik(x-ct)]}$ with Richardson frequency) $(U - c)\left(\frac{\partial^2}{\partial z^2} - k^2\right)\phi + \left\{\frac{N^2}{(U - c)} - U_{zz}\right\}\phi = 0$

$$(U-c)\left(\frac{\partial^2}{\partial z^2}-k^2\right)\phi+\left\{\frac{N^2}{(U-c)}-U_{zz}\right\}\phi=0$$

Note that $c_{ph} = c - U$ is the phase velocity within the moving frame, and $\Omega = ck - Uk = \omega - Uk$ the Doppler shifted or intrinsic frequency.

It can be shown that for stability (see e.g. Drazin & Reid p327) :

Ri > 1/4

with Richardson number (also Ri) = $\frac{N^2}{(\partial U/\partial z)^2}$, N the Brunt Väisälä frequency)



90



INTERMEZZO INTERNAL WAVES

intermezzo internal waves Im(c) = 0

In case the velocity is zero U = 0 we obtain the relation for the perturbation in vertical velocity w' (2D) :

$$w'_{zz} + \left\{\frac{N^2}{c^2} - k^2\right\} w' = 0$$

with say kw' = 0 at z = 0 and H.

Internal waves may exist for $N^2 \neq 0$. Consider the simplest case : $\bar{\rho} = \rho_0 exp(-z/H)$, then $N^2 = g/H = constant$. Then

$$c^{2} = \frac{N^{2}}{(k^{2} + n^{2}\pi^{2}/H^{2})}$$

w = sin{n\pi(z/H)} for n = 1, 2...

represent a discrete spectrum of internal gravity waves (stable or unstable depending on the sign of N^2).

93

・ロト・(型ト・(三ト・(三ト)) 三、 のへで

intermezzo internal waves

For a downward propagating internal wave with upward propagating wave energy we have :

$$\vec{k} = k\vec{e_x} - m\vec{e_z}$$

$$\vec{c_g} = \frac{Nm}{(k^2 + m^2)^{1/2}} (m\vec{e_x} + k\vec{e_z})$$
we have $\vec{c_g} \cdot \vec{k} = \frac{Nm}{(k^2 + m^2)^{1/2}} (km - mk) = 0$

intermezzo internal waves

With perturbations of the form in the (x, z) plane : $w = \hat{w} \exp[i(kx + mz - \omega t)]$ the dispersion relation for ω is (only waves so that $Re(\omega) \neq 0$ and $Im(\omega) = 0$)

$$\omega^2 = \frac{N^2 k^2}{k^2 + m^2}$$

The phase and group velocities are

$$c_{px} = \frac{\omega}{k} = \pm \frac{N}{(k^2 + m^2)^{1/2}} \qquad c_{pz} = \frac{\omega}{m} = \pm \frac{Nk/m}{(k^2 + m^2)^{1/2}}$$
$$c_{gx} = \frac{\partial\omega}{\partial k} = \pm \frac{Nm^2}{(k^2 + m^2)^{3/2}} \qquad c_{gz} = \frac{\partial\omega}{\partial m} = \mp \frac{Nmk}{(k^2 + m^2)^{3/2}}$$

and so there is dispersion in x and z direction.





PERTURBATIONS OF THE FORM $(\zeta', \phi_1', \phi_2') = (\hat{\zeta}, \hat{\phi}_1, \hat{\phi}_2)(z)e^{ikx+\sigma t}$ 1) $\frac{\partial^2 \phi_i}{\partial x^2} + \frac{\partial^2 \phi_i}{\partial z^2} = 0$ gives $-k^2 \hat{\phi}_i + \frac{\partial^2 \hat{\phi}_i}{\partial z^2} = 0$ Solutions are of the form $\hat{\phi}_i = A_i e^{-kz} + B_i e^{kz}$ With the condition $\phi' \longrightarrow 0$ for $z \longrightarrow \pm \infty$ we obtain $\hat{\phi}_1 = B_1 e^{kz}$ and $\hat{\phi}_2 = A_2 e^{-kz}$ 2) Kinematic interface condition $kA_2 = -(\sigma + ikU_2)\zeta$ and $kB_1 = (\sigma + ikU_1)\zeta$ 3) After linearisation of the Bernoulli equation we obtain (after subtraction of the basic state) (note again: $(U_i + \frac{\partial \phi_i'}{\partial x})^2 = (U_i^2 + 2U_i \frac{\partial \phi_i'}{\partial x} + (\frac{\partial \phi'}{\partial x})^2))$ $\rho_1(\sigma + ikU_1\hat{\phi}_1 + g\hat{\zeta}) = \rho_2(\sigma + ikU_2\hat{\phi}_2 + g\hat{\zeta})$ Substitute the expressions for $\hat{\phi}$ and $\hat{\zeta}$ above in 3) to obtain the DISPERSION relation for $\sigma(k, U, g\Delta\rho)$ $\rho_1[kg + (\sigma + ikU_1)^2] = \rho_2[kg - (\sigma + ikU_2)^2]$

We discuss the different instabilities later in this course.

BOUNDARY CONDITIONS TO CALCULATE THE DISPERSION RELATION 1) u= $\nabla \phi$, and ∇ .u= so that $\begin{array}{c} \nabla \phi_1 = 0 \\ \nabla \phi_2 = 0 \end{array}$ i.e $\begin{array}{c} \frac{\partial^2 \phi_i}{\partial x^2} + \frac{\partial^2 \phi_i}{\partial z^2} = 0 \end{array}$

Perturbations $\phi' \longrightarrow 0$ for $z \longrightarrow \pm \infty$

2) Kinematic interface condition with
$$w_1 = w_2$$
 and $w_i = \frac{\partial \phi_i}{\partial z} = \frac{D\zeta}{Dt} = \frac{\partial \zeta}{\partial t} + \frac{\partial \phi_i}{\partial x} \frac{\partial \zeta}{\partial x}$

3) Dynamic interface condition, pressure (normal to the interface) is continuous, i.e. $P_1=P_2$

$$(C_1 - \frac{\partial \phi_1}{\partial t} - \frac{1}{2} \nabla \phi_1^2 - gz)\rho_1 = (C_2 - \frac{\partial \phi_2}{\partial t} - \frac{1}{2} \nabla \phi_2^2 - gz)\rho_2 \text{ (at } z = \zeta)$$

This condition (at z=0) should be satisfied also by the basic flow:

$$\rho_1(C_1 - \frac{1}{2}U_1^2) = \rho_2(C_2 - \frac{1}{2}U_2^2) \qquad (\text{note } \nabla \phi = U_i + \frac{\partial \phi'_i}{\partial x})$$

For $\rho_1 = \rho_2$ and $U_1 = -U_2$: $C_1 = C_2$
98